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Ballet tfor twelve dancers

Pas-de- Quatre

CONTRAFAGOTTO IGOR STRAWINSKY
(19534 — 198571
A M e
M.M. I’: 156.
L 2 3 3 1 41 3 3 3 __2
S r e e - e e £ it L £ S o - e
> NORAY He) [o] [o] 17 {3 fo] [®] Jol
25 3 1 1 3 3 1 2 1
DES=r= e e e e e
$J e N K] ) [o I J N o) & | A
¥ 9 3 \ 3 4 2 2 .. ¥
12—y A0~ —— 14> —n-
a— ‘ —erar o H14 o A
X 7 N\ J \
P = lle.
. Lél 19 9 4 14." 2 1 Z
S = J = = = = -
Yol )
Flracca Svbrto
Tripte Pas—de—Oratre—
LLI,}JIQ i N & =) A
CODA .
St69565° P=ns. - 3 E dbs 2
: '——*iﬁ e K
- - 7 —1 AW p
(Fag1) Ed v mf
104 a1 N 16
r ~ AN v 4 ~ - =  — |
i ‘l <y b A - —— — m! ! Y
Prelude
Jd = 126, & f:le,ncj mo sso.
122 .z : 84
1 4 2 4 10
m g - Z X 3 L 3 I e
= - .  — 7#H=— —
Al rights reserved
Copyright © 1957 by Boosey & Howkes, Inc. B.8H.18364 Printed in England



2 CONTRAFAGOTTO.
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